
6× 9 7× 7 8× 6

6× 7 8× 8 7× 8

8× 9 9× 5 5× 8

48 59 54

56 64 42

40 45 72



25 g =

� cg

0,52 g =

� cg

25 g =

� kg

0,52 g =

� dg

25 g =

� mg

0,52 g =

� dag

25 g =

� dg

0,52 g =

� mg

25 g =

� dag

� = 0,025 � = 52 � = 2500

� = 0,052 � = 25 000 � = 5,2

� = 250 � = 520 � = 2,5



1 h =

� min

2 h 30 min

= � min

3,3 min =

� s

2 min 5 s

= � s

0,25 h =

� min

1,3 h =

� min

3 min 30 s

= � s

1,5 h =

� min

0,15 min

= � s

� = 198 � = 150 � = 60

� = 780 � = 15 � = 125

� = 9 � = 90 � = 210


